I77A4I)\

F.R.L
F.R
F

T
® Fa1—7
UP-9102-20-3-F1
R E ERER
EAEH(20T) G 1) —100kPa~0.7MPa
EmEE T —10~60 ({ELBREEET &)
NEXAR mm 1.8x1.0
AFEEE +0.1
 NEEE +0.1
B/)\HIFEER(JIS B 8381) mm o
RN mm 4
BZEEH(20TC) MPa 2.1 (BE(E)
(FIEERE Q-cm 1X10°UTF(E) 1x102UTF(EUADE)
%)= EBEEOLY
& B2, O, . ERE. ERE S8, feE2
ERRF PTN# 2 U—X (I\—TH4F) @9
@ SHEF
51 PTN:
BRO® M3, M5, R 1/8, ¢3.209, @4 ¢@EiEa
BT EfREER
EREH —100kPa~0.7MPa
., EEEE C —10~60 (BURBHEZECTE)
" ERFa-J UP-9102-20-%-F1 @®
BERHEREE mm? ZhL—h, K=F=w T :03 I)iK:02
R GE3) 2 /min(ANR) A=K, K=T=wFIL:20 IJLiK:13

A1 EREAEZ, [BERELEN(ER - BiR)OER] ORESRIIEE L.

#2  BEEERTY.
3 REEESO.EMPalFDASTEIRIETT .

F4EAFa—7 VI FrOyFa2—7 (B& FH-3224. F-1504, F-1508)
gLy YFa-—T (fz& U-9504. U-9506)

A=k | 5 :PG. CG. RGYU=X (D09 vFH57) [CREATEZEA.

T3 | 36 : DUy FHERIT I 7410 (UP-9402, EH-5802) 3EATEXERA.

L

| |———

2 WBRTAE

tEeel @ Fa1—7 @ AT RFEHEA- 1ty R(105AD)

(AkL—1R)

( PTN2 )-M3
o

{TILAD

.
(" PTNL2 \-@

,Q@U@@@%@

Fa—TH4X 1&RE

HERLE '
@1.8xp1.0 20ms QEROE QEREOE
(SHEXAEE) M3 | M3X0.5 M3 | M3x0.5
S9Fa1—-J& M5 | M5x0.8 M5 | M5x0.8
B 6 |R1/8
w =]
c i5ER UN—T=w I
CB | BEA%H A
cc | Ema (PTN2 (4 )-(0)
Y | &G o
R 7 GF)

| @BAF 1—THE ()
4 ®3.2. 94
6 @6
FEREFa-7
VI hFrOvFa—7 (BZE FH-3224, F-1504, F-1506)
YL IFa—T (Bz& U-9504. U-9508)

i REEERTY

g I —>/{t#k (n%0%No.CcB-033S)




